DIvISION: NEGATIVE DECIMAL NUMBERS (H - SET 2)

brvision Name:
Time: Score: y—
D —635.8 +10 = 16 —960 + (=3) =
2 =80 +5 = 17 283.68 + 8 =
) —23847 + 3 = 15 —89.316 <+ (—0.9) =
) —89.51 +0.01 = 19 —251.12 +-8 =
5 —436.4 + 10 = 200 —11.028 = 0.02 =
6 5319 + (—10) = 2 —H84 + 10 =
N —0.664 + (—0.2) = 2 —387.5+5 =
9 103.8 +2 = 23 —1448.1 +9 =
9 =373+ (—10) = 20 45.91 + 0.005 =
0 87 +0.01 = ) —1335.6 + (—9) =
1 =3578 + 10 = 20 45234 +9 =
2 —16305 + 5 = 2 13.3 + (=0.01) =
) 44.6 +4 = % 17.04 = (—0.04) =
1 8.288 + 0.007 = ) —2.8861 + (—0.07) =
5 6310.8+9 = 0 698.5 + (—10) =
Mathematics: Division - Level 6 - Horizontal - Set 2 24 culus
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